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@ |AVee B #l+5V (BE 28) 0.89 0.89 5 5 255
@ |Vrer EgdE 1.8 1.7 2.5 2.5 :
@ |AGND 1550 (BRI %) 0 0 o | 0 0
@ |DGND b (BFBH) 0 0 0 0 0
® |NC 1] 8.2 6 3.1 hy 3.1
® |[fADJ HEAMES 8 5.7 2.5 2.5 2.5
@ |DATA BHITHIRES 0 0 0 0 0
Voo BIR+5V(MFPHE) 0.89 0.89 5 5 5
©@ |TEST nikES 0 0 0 0 0
@ [MODE BAEEES 7.7 5.3 5 5 5
@ |[REQDEL1 WRE S (EHHEE) 0 0 0 0 0
@ |SECKDEL2 RSP S (ERHERE) 0 0 0 0 0 28 15
® |SEDATEDELI3 MERES (EHEE) 0.89 0.89 5 5 5 H]
® |MUTE BREHES 0 0 0 0 0
©D® |GAINIICC1  Hama()/BREH(1) 8.3 5.7 05 | 04 | 05 | ' "
@® | GAINO/CCO 1 1% F 8 (0)/8 HE 28 (0) 8.3 5.7 0.5 0.5 0.5
® [orouTi BHRMES(1)RH 8.1 7.2 2.5 2.5 2.5
@ |[OPIN1 HHBIMES (VAN 8.1 5.7 2.5 2.5 2.5
@ |OPIN2 HHRIEEQR)BA 8.1 5.7 2.5 2.5 2.5
@ |oPOUT2 AHRMESQ)B/Y 8.1 7 2.5 2.5 25
@ |LPFIN2 KB EES()RA 8.6 5.7 2.5 2.5 2.5
@ |[LPFOUT2 KiEBBRESCQ)BRY 7.9 7 2.5 2.5 2.5
@ [NC ZH 8.2 7.1 2.5 25 25
® |ECHOFB BHURBES 8.2 7 2.5 2.5 2.5
@ |LPFOUT HEEEES() &Y 8.2 7.3 2.5 2.5 2.5
@ |LPFINT REEEES()BA 8.6 5.5 2.5 2.5 25
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